
二次方程式　因数分解　1
３年　　組　　番・氏名　　　　　　　　　　　　

◆次の二次方程式を、因数分解を使って解け。

⑩ x2  7x7x  0⑨ x2  4x4x  4  0

⑧ x2  4x4x  3232  0⑦ x2  2x2x  1  0

⑥ x2  10x10x10x  2525  0⑤ x2  3x3x  2828  0

④ x2  13x13x13x  4242  0③ x2  8181  0

② x2  2x2x  8  0① x2  9x9x  2020  0

＜　　　年   月   日＞

二次方程式　因数分解　2
３年　　組　　番・氏名　　　　　　　　　　　　

◆次の二次方程式を、因数分解を使って解け。

⑩ x2  4x4x  4545  0⑨ x2  12x12x12x  3636  0

⑧ x2  4x4x  2121  0⑦ x2  13x13x13x  4040  0

⑥ x2  x  3030  0⑤ x2  6x6x  0

④ x2  8x8x  1616  0③ x2  5x5x  1414  0

② x2  9  0① x2  12x12x12x  2727  0

＜　　　年   月   日＞



二次方程式　因数分解　3
３年　　組　　番・氏名　　　　　　　　　　　　

◆次の二次方程式を、因数分解を使って解け。

⑩ x2  2x2x  2424  0⑨ x2  14x14x14x  4949  0

⑧ x2  11x11x11x  2828  0⑦ x2  8x8x  0

⑥ x2  10x10x10x  2525  0⑤ x2  4x4x  3232  0

④ x2  6x6x  8  0③ x2  6x6x  9  0

② x2  1  0① x2  10x10x10x  2424  0

＜　　　年   月   日＞

二次方程式　因数分解　4
３年　　組　　番・氏名　　　　　　　　　　　　

◆次の二次方程式を、因数分解を使って解け。

⑩ x2  3x3x  4040  0⑨ x2  4x4x  4  0

⑧ x2  9x9x  1818  0⑦ x2  8x8x  1616  0

⑥ x2  14x14x14x  4545  0⑤ x2  16x16x16x  6464  0

④ x2  x  0③ x2  x  2020  0

② x2  3636  0① x2  12x12x12x  3535  0

＜　　　年   月   日＞



二次方程式　因数分解　5
３年　　組　　番・氏名　　　　　　　　　　　　

◆次の二次方程式を、因数分解を使って解け。

⑩ x2  5x5x  0⑨ x2  8x8x  1616  0

⑧ x2  11x11x11x  3030  0⑦ x2  6x6x  9  0

⑥ x2  12x12x12x  3636  0⑤ x2  5x5x  2424  0

④ x2  5x5x  6  0③ x2  x  5656  0

② x2  4949  0① x2  8x8x  1212  0

＜　　　年   月   日＞

二次方程式　因数分解　6
３年　　組　　番・氏名　　　　　　　　　　　　

◆次の二次方程式を、因数分解を使って解け。

⑩ x2  16x16x16x  6464  0⑨ x2  2x2x  1  0

⑧ x2  10x10x10x  2424  0⑦ x2  2x2x  6363  0

⑥ x2  4x4x  4  0⑤ x2  3x3x  0

④ x2  10x10x10x  2121  0③ x2  x  1212  0

② x2  1616  0① x2  7x7x  1010  0

＜　　　年   月   日＞



二次方程式　因数分解　7
３年　　組　　番・氏名　　　　　　　　　　　　

◆次の二次方程式を、因数分解を使って解け。

⑩ x2  3x3x  2828  0⑨ x2  12x12x12x  3636  0

⑧ x2  11x11x11x  1818  0⑦ x2  5x5x  0

⑥ x2  2x2x  1  0⑤ x2  2x2x  2424  0

④ x2  8x8x  1515  0③ x2  14x14x14x  4949  0

② x2  1616  0① x2  9x9x  2020  0

＜　　　年   月   日＞

二次方程式　因数分解　8
３年　　組　　番・氏名　　　　　　　　　　　　

◆次の二次方程式を、因数分解を使って解け。

⑩ x2  9x9x  2020  0⑨ x2  3x3x  1818  0

⑧ x2  20x20x20x  100100100  0⑦ x2  16x16x16x  6464  0

⑥ x2  2x2x  8  0⑤ x2  12x12x12x  2727  0

④ x2  2x2x  4848  0③ x2  2x2x  0

② x2  3x3x  2  0① x2  2525  0

＜　　　年   月   日＞



二次方程式　因数分解　9
３年　　組　　番・氏名　　　　　　　　　　　　

◆次の二次方程式を、因数分解を使って解け。

⑩ x2  2x2x  3535  0⑨ x2  10x10x10x  2525  0

⑧ x2  8x8x  1212  0⑦ x2  7x7x  0

⑥ x2  6x6x  9  0⑤ x2  x  2020  0

④ x2  7x7x  1010  0③ x2  4x4x  4  0

② x2  4949  0① x2  11x11x11x  2424  0

＜　　　年   月   日＞

二次方程式　因数分解　10
３年　　組　　番・氏名　　　　　　　　　　　　

◆次の二次方程式を、因数分解を使って解け。

⑩ x2  x  4242  0⑨ x2  2x2x  1  0

⑧ x2  10x10x10x  2525  0⑦ x2  x  3030  0

⑥ x2  6x6x  5  0⑤ x2  x  0

④ x2  10x10x10x  2121  0③ x2  14x14x14x  4949  0

② x2  6464  0① x2  6x6x  8  0

＜　　　年   月   日＞



二次方程式　因数分解　11
３年　　組　　番・氏名　　　　　　　　　　　　

◆次の二次方程式を、因数分解を使って解け。

⑩ x2  3x3x  2828  0⑨ x2  14x14x14x  4949  0

⑧ x2  10x10x10x  2424  0⑦ x2  3x3x  0

⑥ x2  10x10x10x  2525  0⑤ x2  4x4x  2121  0

④ x2  8x8x  1212  0③ x2  8x8x  1616  0

② x2  9  0① x2  8x8x  1515  0

＜　　　年   月   日＞

二次方程式　因数分解　12
３年　　組　　番・氏名　　　　　　　　　　　　

◆次の二次方程式を、因数分解を使って解け。

⑩ x2  2x2x  4848  0⑨ x2  4x4x  4  0

⑧ x2  13x13x13x  4242  0⑦ x2  7x7x  0

⑥ x2  12x12x12x  3636  0⑤ x2  4x4x  1212  0

④ x2  8x8x  1515  0③ x2  6x6x  9  0

② x2  1616  0① x2  7x7x  1212  0

＜　　　年   月   日＞


